BK S:t Erik
Julkul (dag) 2022-12-22

Partavling, 41 bord, 81 par. Antal brickor: 24. Medel: 936.6. Frirond (*) ger egen procent.

Plac Par
1 73
2 104
3 61
4 111
5 80
6 178
7 76
8 115
9 160
10 164
11 6
12 180
13 13
14 172
15 177
16 77
17 72
18 16
19 112
20 14
21 114
22 166
23 17
24 19
25 69
26 165
27 119
28 78
29 118
30 1
31 4
32 107
33 113
34 71
35 65
36 168
37 175
38 12
39 5
40 68
41 63
42 102
43 101
44 162
45 161
46 120
a7 9
48 79
49 66
50 110
51 169
52 170
53 74
54 179
55 116
56 18
57 62
58 171
59 11
60 70
61 105
62 106
63 20
64 176
65 3
66 64
67 163
68 2
69 75
70 8
71 15
72 174
73 109
74 103
75 108
76 7
77 173
78 117
79 167
80 67
81 10

Poang

1344.1
1280.4
1268.8
1188.6
1154.3
1152.3
1138.5
1133.0
1129.1
1122.1
1120.3
1104.3
1083.2
1083.2
1081.6
1059.5
1045.3
1043.9
1038.1
1035.1
1030.8
1020.4
1005.7
998.8
993.7
993.2
992.6
991.6
991.1
984.3
978.0
969.4
966.9
966.8
961.0
955.3
951.8
946.9
940.9
938.8
934.9
930.4
925.1
922.9
915.9
909.3
901.1
897.9
893.8
888.9
883.7
878.1
871.4
867.1
864.9
853.8
851.2
848.2
841.0
834.2
822.4
820.9
813.3
812.6
812.3
803.8
796.9
790.3
788.4
773.3
770.6
764.0
762.6
759.4
757.0
733.1
733.1
715.2
661.2
652.2
623.8

%

71.80
68.40
67.78
63.49
61.66
61.55
60.82
60.52
60.32
59.94
59.85
58.99
57.86
57.86
57.78
56.60
55.84
55.77
55.45
55.29
55.06
54.51
53.72
53.35
53.08
53.06
53.03
52.97
52.94
52.58
52.24
51.78
51.65
51.64
51.34
51.03
50.84
50.58
50.26
50.15
49.94
49.70
49.42
49.30
48.93
48.57
48.13
47.97
47.75
47.49
47.21
46.91
46.55
46.32
46.20
45.61
45.47
45.31
44.93
44.56
43.93
43.85
43.44
43.41
43.39
42.94
42.57
42.21
42.12
41.31
41.17
40.81
40.74
40.57
40.44
39.16
39.16
38.20
35.32
34.84
33.32

Namn

Ullabritt Goldberg - Lars Goldberg
Thaitown Nystrom - Peter Flodgvist
Simon Ekenberg - Tuva Nilsmark
Kenneth Lofstrand - Jan Jensen
Christina Lindahl Jenerot - Stefan Backlin
Kjell Pettersson - Tomoko Hansen
Jan Larsson - Géran Nilsson

Birgitta Nilsson - Thomas Malmstrém
Jeanette Josefsson - Magdalena Ginste
Bennet Rosengren - Krister Persson
Matteo Nordgvist - Bengt-Erik Efraimsson
Ola Weinberg - Po Sundelin
Lars-Gunnar Bystrém - Ulf Henerud
Majlis Danielson - Monica Grangien
Elena Strém - Erik Asbrink

Lennart Rehle - Christina Torsslow
Kerstin Kinnander - Anita Arkelid

Sofia Sundstrom - Patrik Eriksson
Kerstin Strém - Kerstin Klintberg
Fredrik Sandwall - Birger Bogstag
Yvonne Dyrefors - Mari-Anne Elsasdotter
Bjorn Rahmqyist - Claes Andreasson
Birgitta Tell - Monica Nordin

Birgitta Ellner - Karl Keresztes
Margareta Winell - Asa Albihn

Leif Hansson - Jonas Jansson

Berit Strandberg - Eva Klingspor
Kerstin Graberg - Ulla Kullenberg
Tomas Clason - Boel Helsing

Kerstin Grandell - Marten Hilding
Gudrun Dahlberg - Bibi Sandberg
Lars-Goran Lund - Eva Lund

Bengt Orre - Lars Andersson

Dennis Ovefors - Monika Borg

Anita Brynje - Caroline Henjered
Birgitta Rasch - Eva Léwenthal

Karin Ekhammar - Paul Grengel

Ingrid S6derholm - llona Bovin
Christian Wiechel - Bjorn Nordlander
Agneta Adelstrand - Ake Adelstrand
Mary-Ann Engstrom - Jan Engstrom
Birgitta Essén-Gustavsson - Eva Mare
Dag EImér - Ulla Andersson

Mikael Ostlund - Anders Galvenius
Ann-Britt Carlén - Elisabeth Nordling
Gunnar Ericsson - Ann-Cathrine Strom-Ericsson
Viviann Rosenlund - Gill Norberg

Nils Ahlén - Agneta Aicardi-Holmstrém
Ulla Selander - Lennart Jansson

Rolf Norlin - Elisabeth Forsell

Josef Jawitz - Nanna Jawitz

Yvonne Matsson - Lars Arnarp

Bertil Sandberg - Inger Kinge

Bengt Sandberg - Lars Leijon

Barbara Lane - Anita Deckel

Kerstin Jakobsson - Barbro Fischerstrom
Goran Vestin - Lennart Lindberg
Barbro Wiberg - Arija Stromberg
Anders d'Aquino - Noomi Hebert

Mi Andrén - Jan Christiernin

Mona Hellingh - UIf Lindgren

Jan-Erik Grindborg - Karin Grindborg
Marie-Anne Olsson - Gunnel Levander
Bernt Ericsson - Marie Friedman
Birgitta Bremer - Kare Bremer

Birgitta Berg - Mats Alarik

Mats Jender - Ulla Jender

Walter Kego - Ingvar Wistrom

Rolf Jallgard - Lars Janeskold

Goran Lind - Kerstin Hallgren

Britt Arvidsson - Lena Fagerstrom

P&l Nyrén - Maija Lempianen Nyrén
Dag Bjerke - Torbjorn Holking

Inger Schonbeck - Madeleine Gabrielson
Leif Anderberg - Ulla Winblad
Christine Claesson - Helena Nilsson
Ulla Bohlin - Leif Norgren

Rolf Westling - Leif Nilsson
Marie-Louise Andersson - Ulla Edlund
Jarl Karlsson - Géran Soderlof
Christina Weding - Gun Bolin

MID
12649 9298
67924 14778
41685 65447
44356 92632
15557 15556
1454 84545
5220 3068
83071 17048
16767 83512
8695 8789
67675 127
94278 1171
6923 5906
25727 11055
8220 8624
6599 18545
92567 16796
53097 37392
52807 47221
25808 53063
4609 89478
13330 8837
82345 14788
8499 7784
34369 50678
30539 17595
38969 26851
35823 36035
30827 17117
36056 42670
82328 63469
56975 56974
35131 40560
93638 41052
44476 43876
49848 82562
54543 47220
38691 52493
88390 47930
201597 201709
90360 54806
50131 55113
87314 56852
64812 65359
88227 11622
54133 54134
52800 93512
3946 50831
61726 55632
17228 16291
80046 80698
80357 62066
65023 45015
36629 36406
52559 43447
83063 38701
85771 28610
21626 84795
21174 10059
90168 50692
22782 89486
46264 46265
35871 31316
55445 38247
34707 34706
62039 67735
47623 31042
55397 55396
88859 89544
14248 6059
8960 40724
66405 67039
56670 61848
40891 65794
57114 48717
17500 56877
83079 64139
2081 53800
14766 20344
65015 65064
67037 62055
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1 4 D98642 Basta kontrakt 2 4 K1083 Basta kontrakt 3 410963 Basta kontrakt
Nord vD5 7% O =-1440 Ost v D64 2NTV =-120 Syd v 98742 2¢ V =-90
Ingen ¢ DKn62 NS + EK5 ov + K106
&5 & ¢ v & NT #Kn84 & ¢ v & NT L X} & ¢ v & NT
4 EK105 «&Kn NO2241 D76 4E942 N47 865 & K2 « DKn84 N657 75
v K63 v EKn2 S02241 vEK10 v98 S 47865 vD v KKn63 S757 75
+10 ¢ EK54 O 1311109 12 +863 ¢ D97 085576 ¢ Kn9732 ¢ D85 O6 86 6 7
#D10632 #EKKn74 V 1311109 12 K652 #D973 V96578 #E10964 D3 V68567
473 4 Kn5 4 E75
v 109874 v Kn7532 vE105
49873 + Knl1042 ¢ E4
«98 #E10 #KKn752
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
163 118 5¢ V-3 &5 150 78.0 0.0 2 79 2¢DS+1 4Q 870 780 0.0| 68 13 14DS= vQ 140 75.0 3.0
162 119 7NV-1 vQ 50 76.0 20| 73 8 24 O-3 ¥2 150 76.0 20| 69 12 29y S+1 7 140 75.0 3.0
71 10 3&#V+4 ¢6 -190 740 40| 11 70 2vS+1 «Q 140 720 6.0|164 117 3v N= &Q 140 75.0 3.0
11 70 54V +2 &5 -440 66.0 12.0| 61 20 2v S+1 46 140 720 6.0|174 107 2v S+1 +9 140 75.0 3.0
61 20 5#V+2 ¢Q -440 66.0 12.0| 71 10 2v S+1 &K 140 720 6.0| 62 19 2v S= *7 110 61.0 17.0
63 18 54 O+2 &7 -440 66.0 12.0(102 179 2v S= &2 110 68.0 10.0| 73 8 2v N= «Q 110 61.0 17.0
80 1 54V+2 48 -440 66.0 12.0| 74 7 34 0-2 vJ] 100 63.0 15.0|102 179 2v S= ¢2 110 61.0 17.0
104 177 54 O +2 T -440 66.0 12.0(104 177 24 O-2 +4 100 63.0 15.0|111 170 2v S= *2 110 61.0 17.0
105 176 54 O+2 &7 -440 66.0 12.0(111 170 34 O-2 ¢J 100 63.0 15.0|115 166 2v S= *2 110 61.0 17.0
111 170 54V +2 44 -440 66.0 12.0(180 101 24 O-2 v2 100 63.0 15.0|161 120 2v S= &A 110 61.0 17.0
161 120 3BNO+2 T -460 58.0 20.0 3 78 24 O-1 #A 50 46.0 32.0 (163 118 2v S= &A 110 61.0 17.0
5 76 3NO+3 T -490 52.0 26.0( 15 66 3#V-1 v4 50 46.0 32.0(171 110 2v S= &A 110 61.0 17.0
73 8 3NO+3 a7 -490 520 260| 62 19 INO-1 43 50 46.0 32.0 (175 106 2v S= *7 110 61.0 17.0
164 117 3NO+3 &7 -490 52.0 26.0| 65 16 24 O-1 &A 50 46.0 32.0(180 101 2v S= +3 110 61.0 17.0
165 116 3NO+3 v4 -490 52.0 260 67 14 INV-1 +¢A 50 46.0 320 63 18 2¢ V-1 &8 100 50.0 28.0
173 108 3INO+3 v4 -490 52.0 26.0|103 178 2& V-1 ¢A 50 46.0 320 75 6 INS= &2 90 46.0 32.0
4 77 3NV +4 49 -520 44.0 34.0|105 176 2# V-1 ¢A 50 46.0 32.0 (105 176 2& S= vQ 920 46.0 32.0
74 7 ANV+3 vQ -520 44.0 34.0(162 119 3&V-1 +A 50 46.0 32.0(169 112 INS= &4 90 46.0 32.0
103 178 3NO+4 v4 -520 44.0 34.0(164 117 14 O-1 &A 50 46.0 32.0 2 79 29y N-1  +Q -50 29.0 49.0
15 66 64 O0+1 &7 -940 27.0 51.0|165 116 14 O-1 ¢4 50 46.0 32.0 3 78 29S-1 7 -50 29.0 49.0
62 19 64V +1l &7 -940 27.0 51.0(167 114 INV-1 +A 50 46.0 32.0 4 77 2v N-1 #Q -50 29.0 49.0
64 17 64 O+1 v4 -940 27.0 51.0 (174 107 24 O-1 &A 50 46.0 32.0 9 72 29S-1 2 -50 29.0 49.0
68 13 6#V+l ¢Q -940 27.0 51.0(175 106 24 O-1 ¢J 50 46.0 320 15 66 2v S-1 &A -50 29.0 49.0
69 12 64 O+1 &7 -940 27.0 51.0| 68 13 14 O= &A -80 32.0 46.0| 64 17 2vS-1 2 -50 29.0 49.0
102 179 64V +1 &5 -940 27.0 51.0 5 76 INV= v4 -90 27.0 510 65 16 2¢vS-1 +2 -50 29.0 49.0
109 172 64 V+1 ¢Q -940 27.0 51.0| 75 6 INV= ¢ A 90 27.0 51.0| 71 10 2vS-1 &K -50 29.0 49.0
115 166 6%V +1 &5 -940 27.0 51.0| 80 1 2e4V= *A -90 27.0 51.0| 80 1 2¢9S-1 2 -50 29.0 49.0
167 114 64 O +1 &7 -940 27.0 51.0|163 118 INV= va -90 27.0 51.0(104 177 2vS-1 +3 -50 29.0 49.0
169 112 64 O+1 &7 -940 27.0 51.0|161 120 2v S-1 46 -100 21.0 57.0|109 172 2v S-1 ¢7 -50 29.0 49.0
171 110 64 O+1 vT -940 27.0 51.0(173 108 INN-1 4 -100 21.0 57.0|165 116 2v S-1 &4 -50 29.0 49.0
174 107 64 O+1 T -940 27.0 51.0 9 72 14 O+1 ¥5 -110 17.0 61.0|168 113 3NS-1 +¢2 -50 29.0 49.0
175 106 64 O+1 &7 -940 27.0 51.0| 69 12 2&V+1l +A -110 17.0 61.0|173 108 2# S-1 vQ -50 29.0 49.0
180 101 64V +1 vQ -940 27.0 51.0| 63 18 INO+1 &J -120 10.0 68.0| 67 14 2¢ V= &8 -90 14.0 64.0
67 14 6NV = +Q -990 11.0 67.0| 64 17 INV+1l +A -120 10.0 68.0| 74 7 29S-2 ¢2 -100 9.0 69.0
168 113 6N O = 46 -990 11.0 67.0109 172 INO+1 #2 -120 10.0 68.0|103 178 2v S-2 &A -100 9.0 69.0
3 78 6NO+1 T -1020 8.0 70.0|115 166 INV+1 +¢A -120 10.0 68.0(162 119 3v S-2 ¢2 -100 9.0 69.0
2 79 24DN-5 #A -1100 6.0 72.0|171 110 INO+1 &J -120 10.0 68.0|167 114 2v S-2 ¢7 -100 9.0 69.0
9 72 740= a7 -1440 3.0 75.0(169 112 INV+2 K -150 4.0 740| 11 70 44 S-3 &A -150 3.0 75.0
75 6 7#0= &9 -1440 3.0 75.0 4 77 INS-2 ©vA 200 10 77.0| 61 20 3NS-3 ¢2 -150 3.0 75.0
65 16 7NV= a4 -1520 0.0 78.0(168 113 2¢ N-2 &3 -200 10 77.0 5 76 24DS-2 vQ -300 0.0 78.0
160 - 47.0 160 - 47.0 160 - 47.0
4 & EKn6 Basta kontrakt 5 # 106432 Basta kontrakt 6 » D875 Basta kontrakt
Vast v D8642 2NTV =-120 Nord v KKn543 5¢ OD-3500 Ost vD10742 7NT O =-2220
Alla + K10876 NS +6 ov + D6
»- & ¢ v & NT 94 & ¢ v & NT D2 & ¢ v & NT
4 K2 410943 N3 86 6 4 & K7 & Kn5 N5 5 10108 4« E43 & Kn NOO250
v EKn53 vK10 S 3866 4 vD9 v 86 S 55 10108 v3 v EKKn6 S00250
¢ 532 ¢+ E4 09 4678 ¢ Kn10743 ¢ D852 078225 ¢ E543 ¢ KKn987 O 13139 8 13
#K743  #ED1095 V94678 #E1076 #KD853 V78225 #Kn10984 &#EK3 V 13139 8 13
4 D875 4 ED98 4 K10962
v97 vE1072 v 985
+ DKn9 + EK9 4102
#Kn862 &Kn2 #765
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
5 77 3NO-4 +Q 400 78.0 0.0| 80 2 4y N+2 o2 680 78.0 0.0|175 108 4¢ V+2 v2 -170 78.0 0.0
3 79 3NO-3 +Q 300 75.0 3.0 1 7 4v S+1 ¢ 650 71.0 7.0 1 7 5¢ O+1 &5 -620 749 3.1
172 111 2NV -3 46 300 750 3.0| 12 71 4v S+1 ¢J 650 71.0 7.0(112 171 5¢ V+1 #Q -620 749 3.1
4 78 44 0-2 +Q 200 69.0 90| 69 14 4vy N+1 +8 650 71.0 7.0 4 78 5¢ O+2 5 -640 55.4 22.6
72 11 3NV-2 46 200 69.0 9.0| 70 13 4vy N+1 +8 650 71.0 7.0| 12 71 5¢ O+2 9 -640 55.4 22.6
164 119 34 0-2 v9 200 69.0 9.0|110 173 4vy N+1 &5 650 71.0 7.0| 16 67 5¢ V+2 v2 -640 55.4 22.6
166 117 1INV -2 ¢7 200 69.0 9.0|112 171 4v S+1 ¢J 650 710 7.0| 63 20 5¢ V+2 w7 -640 55.4 22.6
101 107 3¢ S= &K 110 63.0 15.0 6 76 4v S= SA 620 52.0 26.0| 65 18 54 0+2 T -640 55.4 22.6
165 118 3¢ N= aT 110 63.0 15.0| 16 67 4y N= &K 620 520 26.0| 72 11 56 O+2 T -640 55.4 22.6
12 71 44 0-1 v9 100 57.0 21.0| 63 20 4v S= &7 620 52.0 26.0| 74 9 56 V+2 a7 -640 55.4 22.6
103 179 3#0-1 v9 100 57.0 21.0| 64 19 4v S= *J 620 52.0 26.0 (101 107 5¢ V+2 45 -640 55.4 22.6
112 171 3#0-1 +Q 100 57.0 21.0| 65 18 4y N= &3 620 52.0 26.0|103 179 5¢ O+2 &5 -640 55.4 22.6
116 167 3#0-1 ¢Q 100 57.0 21.0| 68 15 4v S= &A 620 52.0 26.0(106 176 5¢ V+2 v7 -640 55.4 22.6
1 7 24 0= +Q -90 50.0 28.0| 75 8 4v S= SA 620 52.0 26.0(110 173 5¢ O+2 42 -640 55.4 22.6
80 2 INO= a7 -90 50.0 28.0|101 107 4v S= *J 620 52.0 26.0|116 167 5¢ O+2 ¢2 -640 55.4 22.6
174 109 24 O = +Q -90 50.0 28.0|104 178 4v S= &A 620 52.0 26.0(161 160 5¢ V+2 v2 -640 55.4 22.6
16 67 24 S-1 &3 -100 42.0 36.0|161 160 44 N= &3 620 52.0 26.0|163 120 5¢ O+2 46 -640 55.4 22.6
66 17 3vy N-1 ¢A -100 42.0 36.0|165 118 4v S= *J 620 52.0 26.0|169 114 5¢ V+2 v2 -640 55.4 22.6
69 14 24 S-1 ¢5 -100 42.0 36.0|166 117 44 S= *J 620 52.0 26.0|174 109 5¢ V+2 v2 -640 55.4 22.6
74 9 4¢ N-1 &A -100 42.0 36.0|170 113 4v S= &7 620 52.0 26.0(180 102 5¢ V+2 #Q -640 55.4 22.6
180 102 2¢v N-1 T -100 42.0 36.0 4 78 2NS+3 7 210 38.0 40.0|104 178 3INO+2 42 -660 35.9 42.1
63 20 3#0-= v9 -110 31.0 47.0| 66 17 2y N+3 & 200 32.0 46.0|168 115 3NV +2 5 -660 35.9 42.1
65 18 3# 0= +Q -110 31.0 470| 72 11 3y N+2 ¢8 200 32.0 46.0| 75 8 3NO+3 &9 -690 32.8 45.2
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105 177 3# O = v9 -110 31.0 47.0(163 120 3v S+2 ¢J 200 32.0 46.0 3 79 3NO+4 a2 -720 28.7 49.3
106 176 3# O = +Q -110 31.0 47.0(168 115 3v S+2 ¢ 200 32.0 46.0| 62 61 3NV+4 v4 -720 28.7 49.3
110 173 3# O = v9 -110 31.0 47.0(175 108 3v N+2 4] 200 32.0 46.0(165 118 3NV +4 &7 -720 28.7 49.3
175 108 3% O = v9 -110 31.0 47.0 5 77 2vS+2 ¢ 170 20.0 58.0 5 77 6¢ V+1 ¢6 -1390 13.4 64.6
104 178 2NV = 2 -120 240 540| 74 9 3v S+l #A 170 20.0 580 10 73 6#0O+1 T -1390 13.4 64.6
6 76 4# 0= +Q -130 21.0 57.0(103 179 3v S+1 ¢J 170 20.0 58.0( 64 19 64 O+1 2 -1390 13.4 64.6
75 8 24 0+2 w7 -130 21.0 57.0|105 177 2v S+2 #A 170 20.0 58.0| 66 17 64 V+1 a7 -1390 13.4 64.6
163 120 3# O+2 v9 -150 18.0 60.0 106 176 3v N+1 #K 170 20.0 58.0( 68 15 64 V+1 v4 -1390 13.4 64.6
169 114 2N O +2 a7 -180 16.0 62.0 (116 167 34 S+1 ¢7 170 20.0 580 69 14 64 O+1 v¥9 -1390 13.4 64.6
168 115 3¢DN-1 &K -200 14.0 64.0(169 114 2v N+2 &K 170 20.0 58.0( 70 13 64 O+1 T  -1390 134 64.6
161 160 34 S-3 &4 -300 12.0 66.0 3 79 440-3 +¢A 150 11.0 67.0 105 177 64 O+1 ¢2 -1390 13.4 64.6
68 15 3v N-5 &A -500 10.0 68.0(172 111 44 0O-3 v2 150 11.0 67.0(164 119 6¢ V+1 2 -1390 13.4 64.6
170 113 3NO= a7 -600 80 70.0| 10 73 44 0-2 ¢A 100 7.0 71.0|166 117 6#V+1 ¢2 -1390 13.4 64.6
10 73 3NV+l +6 -630 4.0 74.0(164 119 INV-2 3 100 7.0 710|170 113 64 O+1 T -1390 13.4 64.6
62 61 3NO+1 &5 -630 4.0 740| 62 61 3¢ V-1 v5 50 3.0 75.0|172 111 66 O+1 &2 -1390 13.4 64.6
70 13 3NV+1 +v6 -630 4.0 74.0|174 109 3¢ V-1 T 50 3.0 75.0 6 76 7¢ O= v5 -2140 0.0 78.0
64 19 34DS-3 #4 -800 0.0 78.0(180 102 1¢ S-1 +vQ -100 0.0 780| 80 2 5¢ O+2 42 -640>a 46.8 46.8
162 - 38.5 162 - 38.5 162 - 38.5
7 » EK104 Basta kontrakt 8 4 KDKn3 Basta kontrakt 9 4 Kn10853 Basta kontrakt
Syd vKn72 34 S =140 Vast v K8753 5¢ VD -2 300 Nord vE 2¢ N =90
Alla + 865 Ingen +D ov + KD972
#763 & ¢ v & NT +D75 & ¢ v & NT #65 & ¢ v & NT
483 4 7652 N59 897 « E62 494 N 4 3 10106 4 EKD92 476 N3 87 66
vKD54 ¢93 S 5 108 9 7 vKn9 v 104 S 3 3 10106 vK108 D43 S 48766
+Kn32  +K9 08 3546 ¢+ KKn9862 ¢ 1074 079337 +8 ¢ 10643 085577
#ED108 #Kn9542 V83546 #43 #EKKN986 V 7 9 3 3 7 #EDKn2 #9874 V85577
4« DKn9 410875 a4
vE1086 v ED62 v Kn97652
+ ED1074 + E53 ¢ EKn5
&K «102 #K103
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
111 174 44 N= ¢K 620 78.0 0.0 6 77 4v N= &K 420 68.0 10.0| 13 72 34DV -3 &6 800 78.0 0.0
75 10 INS+4 K 210 76.0 20| 65 20 4v N= «A 420 68.0 10.0 4 79 5#40-5 #4 500 76.0 20
66 19 2v S+3 48 200 740 40| 66 19 4v S= +6 420 68.0 10.0 2 8 540-2 44 200 710 7.0
169 116 INS+3 v¥5 180 720 6.0| 67 18 4y N= &A 420 68.0 10.0| 11 74 44DO-1 #4 200 710 7.0
6 77 3¢ S+2 vK 150 69.0 9.0( 70 15 4v N= «A 420 68.0 100 80 3 24V-2 vA 200 710 7.0
102 108 2¢ S+3 vK 150 69.0 90| 80 3 4y N= &A 420 68.0 10.0|166 119 34 V-2 vA 200 710 7.0
171 114 2v S+1 8 140 66.0 12.0 102 108 4v N = &A 420 68.0 10.0 6 77 2vS+1 «A 140 66.0 12.0
73 12 3¢ S+1 AT 130 64.0 14.0 104 179 4v N= «A 420 68.0 10.0 (104 179 4 N= a7 130 63.0 15.0
1 9 3¢S= 8 110 540 24.0|111 174 4y N= &A 420 68.0 10.0(165 120 3¢ N+1 %4 130 63.0 15.0
2 8 2¢S+1 &A 110 54.0 24.0 166 119 4v N= &A 420 68.0 10.0| 70 15 3¢ N= *9 110 59.0 19.0
5 78 2¢ S+1 vK 110 54.0 24.0(171 114 4v N= &A 420 68.0 10.0(180 103 2¢ N+1 ¥2 110 59.0 19.0
67 18 24 N= &5 110 540 24.0|117 168 54D O-2 vA 300 56.0 22.0 1 9 24V-1 vA 100 53.0 25.0
69 16 2v S= 48 110 540 240 71 14 3vy N+1 T 170 49.0 29.0| 17 68 24 V-1 vA 100 53.0 25.0
80 3 2vS= 48 110 54.0 240(105 178 3vy N+1 #A 170 49.0 29.0|169 116 4 O-1 44 100 53.0 25.0
107 176 2¢ S+1 8 110 540 240|106 177 3vy N+1 #A 170 49.0 29.0|170 115 44V-1 vA 100 53.0 25.0
165 120 3¢ S= 43 110 54.0 24.0|107 176 3y N+1 T 170 49.0 29.0| 71 14 2¢ N= *9 90 47.0 31.0
173 112 34 S= 8 110 54.0 24.0|165 120 3v S+1 %4 170 49.0 29.0| 73 12 2¢ N= v3 90 47.0 31.0
4 79 29 S-1 48 -100 34.0 44.0(180 103 3v N+1 A 170 49.0 29.0 5 78 3¢ N-1 &7 -50 41.0 37.0
7 76 2NN-1 &2 -100 34.0 44.0 2 8 3vN= &K 140 36.0 420| 66 19 3vS-1 4Q -50 41.0 37.0
17 68 2v S-1 48 -100 34.0 440| 13 72 2v S+l 4 140 36.0 42.0(101 109 3¢ N-1 #4 -50 41.0 37.0
65 20 24 N-1 #9 -100 34.0 440| 69 16 3v N= &A 140 36.0 42.0|175 110 3¢ N-1 #9 -50 41.0 37.0
70 15 3NS-1 &T -100 34.0 440(| 73 12 2v N+1 #A 140 36.0 42.0| 64 61 la V= ¢+ K -80 36.0 42.0
101 109 14 S-1 8 -100 34.0 44.0(113 172 3v N= A 140 36.0 420 69 16 3¢DN-1 &7 -100 32.0 46.0
104 179 3NS-1 #A -100 34.0 44.0|162 161 3v N= &A 140 36.0 42.0|107 176 3v S-2 48 -100 32.0 46.0
106 177 5¢ S-1 &A -100 34.0 44.0(173 112 3v N= &A 140 36.0 42.0|167 118 2¢DS-1 8 -100 32.0 46.0
113 172 3NN-1 &2 -100 34.0 440(| 17 68 3NO-2 v6 100 28.0 50.0 (162 161 24 V= *6 -110 28.0 50.0
167 118 34 N-1 &5 -100 34.0 440| 64 61 5#40-1 v6 50 25.0 53.0| 63 62 3#V+l ¢K -130 26.0 52.0
170 115 3NN-1 &4 -100 34.0 44.0(101 109 4¢ V-1 &K 50 25.0 53.0| 65 20 24 V+1 ©vA -140 16.0 62.0
11 74 44 N-2 v9 -200 16.0 62.0 1 9 4v N-1 &A -50 13.0 650 75 10 34 V= vA -140 16.0 62.0
13 72 44 N-2 v9 -200 16.0 62.0 4 79 4v N-1 #A -50 13.0 65.0|102 108 24 V+1 ¢K -140 16.0 62.0
63 62 44 S-2 48 -200 16.0 62.0 5 78 4v N-1 &A -50 13.0 65.0|106 177 24 V+1 <vA -140 16.0 62.0
105 178 3NN-2 &7 -200 16.0 62.0 7 76 4v N-1  #A -50 13.0 65.0|111 174 24 V+1 <vA -140 16.0 62.0
166 119 3NN-2 &2 -200 16.0 620 11 74 5v S-1 &A -50 13.0 65.0(117 168 34 V= vA -140 16.0 62.0
175 110 3NN-2 &2 -200 16.0 62.0 63 62 4v N-1 &A -50 13.0 65.0|163 160 24 V+1 vA -140 16.0 62.0
180 103 3NN-2 %2 -200 16.0 62.0| 75 10 4vy N-1 A -50 13.0 65.0|171 114 14 V+2 <vA -140 16.0 62.0
64 61 4v S-3 48 -300 5.0 73.0(163 160 4v S-1 %4 -50 13.0 65.0|173 112 14 V+2 YA -140 16.0 62.0
71 14 44 N-3 &7 -300 5.0 73.0(170 115 4v N-1 &A -50 13.0 65.0(105 178 24 N-3 &9 -150 6.0 72.0
162 161 34 N-3 &2 -300 5.0 73.0(175 110 4v N-1 A -50 13.0 65.0| 67 18 4¢ N-4 &4 -200 4.0 74.0
163 160 44 N-3 v9 -300 5.0 73.0(167 118 3¢ V= &K -110 2.0 76.0 7 76 3#N-6 o7 -300 2.0 76.0
117 168 44 N-4 v9 -400 0.0 78.0(169 116 3NS-3 +¢9 -150 0.0 78.0(113 172 24DV +1 vA -870 0.0 78.0
164 - 46.8 164 - 46.8 164 - 46.8
10 4 KD8632 Basta kontrakt 11 43 Basta kontrakt 12 410875 Basta kontrakt
Ost v Kn3 4v O =-620 Syd v EKn8763 4¢ SD-1-100 Vast v74 3NTV =-400
Alla 443 Ingen + 8752 NS + EKn106
#875 & ¢ v & NT #D5 & ¢ v & NT #EK4 & ¢ v & NT
a5 « EKn94 N6 3363 « EKKN94 4 D1062 N6 99 46 «D4 # EK3 N45674
vD98654 ¢72 S7 336 3 vKD42 v9 S6 9946 v E96 vD103 S45674
+ K102 ¢ E8765 O 6 10107 8 ¢+E ¢ 10943 07 4497 ¢72 + KD985 09 86 6 9
*E92 *K6 V 6 10107 8 #643 #K1082 V73296 #D109852 #Kn6 V98669
4107 4875 & Kn962
v EK10 v 105 v KKn852
+ DKn9 + KDKn6 +43
#DKn1043 #EKn97 *73
Par Kontr Ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
103 109 3NO-4 #Q 400 780 0.0| 64 63 44 V-3 45 150 780 00| 14 73 24 N+1 &A 140 78.0 0.0
6 78 4v V-2 &K 200 740 40| 12 75 29y N+1 T 140 76.0 2.0|107 177 3¢ O-2 4] 100 73.0 5.0
65 62 3NV-2 &4 200 740 4.0 1 11 4eV-2 #Q 100 65.0 13.0(118 169 3NO-2 +4 100 73.0 50
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107 177 3¢ O-2 vA 200 740 40| 2 10 44V-2 ¢2 100 65.0 13.0(164 161 3¢DO-1 7 100 73.0 5.0
80 4 24N= 97 110 700 80| 3 9 4eV-2 #Q 100 65.0 13.0(168 119 3NO-2 42 100 730 5.0
5 79 2NO- T 100 66.0 12.0| 72 15 44 O-2 T 100 65.0 13.0(114 173 INN=  4A 90 68.0 10.0

105 179 4v V-1 «7 100 66.0 12.0(101 111 44 V-2 ¢2 100 65.0 13.0 71 16 3NO-1 2 50 64.0 14.0

112 175 2NV-1 &5 100 66.0 12.0(106 178 44 V-2 ¢6 100 65.0 13.0(163 162 3NO-1 &2 50 64.0 14.0
64 63 3#S-1 &4 -100 60.0 18.0|108 176 34 V-2 #Q 100 65.0 13.0(170 117 3NO-1 4J 50 64.0 14.0
70 17 2#S-1  +2 -100 60.0 18.0|165 160 44 V-2 #Q 100 65.0 13.0| 5 79 2¢ O= &7 -90 58.0 20.0

171 116 24 N-1  v7 -100 60.0 18.0|170 117 44 V-2 8 100 65.0 13.0| 12 75 2aV= v7 -90 58.0 20.0
74 13 3¢ O= o7 -110 56.0 22.0|180 104 44 V-2 ¢5 100 65.0 13.0| 70 17 INO= ¢4 -90 58.0 20.0
72 15 3¢ O+1 «Q -130 53.0 25.0| 7 77 44V-1 #Q 50 400 380| 1 11 3«V= a7 -110 53.0 25.0

167 120 3¢ O+1 oT -130 53.0 25.0| 8 76 44 O-1 +¢K 50 40.0 38.0| 68 19 3#V= 45 -110 53.0 25.0
14 73 2v V+1 48 -140 49.0 29.0| 14 73 44 O-1 T 50 40.0 38.0|172 115 INV+1l +6 -120 50.0 28.0

170 117 2v V+1 &K -140 49.0 29.0| 18 69 44 V-1 v6 50 400 380| 3 9 INO+2 v2 -150 43.0 35.0
18 69 2NO+1 T -150 46.0 32.0| 65 62 44 V-1 ¢5 50 40.0 380| 7 77 INO+2 2 -150 43.0 35.0
1 11 2vV+2 &5 -170 38.0 400 70 17 44 V-1 ©vA 50 400 38.0| 72 15 INO+2 v38 -150 43.0 35.0
12 75 2v V+2 &K -170 38.0 40.0| 80 4 4a4V-1 ©vA 50 40.0 38.0( 74 13 INO+2 ¢4 -150 43.0 35.0

118 169 3v V+1 #8 -170 38.0 40.0|102 110 44 V-1 43 50 40.0 38.0|167 120 2NO+1 46 -150 43.0 35.0

164 161 3v V+1 &5 -170 38.0 40.0(105 179 44 V-1 o7 50 40.0 38.0|171 116 2NO+1 2 -150 43.0 35.0

165 160 3v V+1 vJ -170 38.0 40.0|112 175 44 V-1 vA 50 40.0 38.0| 18 69 INO+3 ¢4 -180 30.0 48.0

174 113 3v V+1 &5 -170 38.0 40.0|114 173 44 V-1 ¢5 50 40.0 38.0(102 110 INO+3 ¢4 -180 30.0 48.0

180 104 2v V+2 &K -170 38.0 40.0(118 169 44 V-1 vA 50 40.0 38.0|105 179 INO+3 5 -180 30.0 48.0
3 9 3vV+2 &8 -200 25.0 53.0|163 162 44 V-1 vA 50 40.0 38.0(106 178 INO+3 2 -180 30.0 48.0
8 76 3#S-2 45 -200 25.0 53.0|168 119 44 V-1 7 50 40.0 38.0(108 176 2NO+2 ¥5 -180 30.0 48.0

106 178 3#S-2 +¢K -200 25.0 53.0(172 115 44 V-1 #Q 50 40.0 38.0(174 113 INO+3 ¥5 -180 30.0 48.0

108 176 3#S-2 +K -200 25.0 53.0| 5 79 4¢ S-2 4A -100 24.0 54.0|180 104 INO+3 ¥2 -180 30.0 48.0

114 173 24 N-2 97 -200 25.0 53.0| 6 78 24 V= +5 -110 21.0 57.0| 2 10 2vS-2 4Q -200 20.0 58.0

172 115 2NS-2 6 -200 25.0 53.0 (167 120 24 V= vA -110 21.0 57.0|101 111 24 N-2 ¢K -200 20.0 58.0
2 10 34 N-3 97 -300 17.0 61.0| 68 19 24 V+1 ©vA -140 16.0 62.0|112 175 34 N-2 4A -200 20.0 58.0

102 110 3#S-3 +K -300 17.0 61.0|103 109 34 V= *Q -140 16.0 62.0| 67 20 2NN-3 +¢5 -300 16.0 62.0
67 20 44 N-4 w7 -400 13.0 65.0(174 113 24 V+1 +¢8 -140 16.0 620 6 78 3NO= 46 -400 12.0 66.0

168 119 3NS-4 45 -400 13.0 65.0|164 161 5¢DS-2 v9 -300 12.0 66.0| 65 62 2NN - *J -400 12.0 66.0
71 16 3NS-5 K -500 10.0 68.0| 66 61 44 V= vA -420 50 73.0| 80 4 3NO= +8 -400 12.0 66.0

163 162 3NO= ¢Q -600 8.0 70.0| 67 20 44 V= vA -420 5.0 73.0| 8 76 3NO+1 v6 -430 4.0 740
7 77 4v V= 5 -620 6.0 72.0| 71 16 44 V= +8 -420 5.0 73.0| 64 63 3NO+1 ¢4 -430 4.0 74.0

101 111 4v V+1 v -650 4.0 740| 74 13 4e V= vA -420 5.0 73.0| 66 61 3NO+1 ¥2 -430 4.0 74.0
66 61 24DN-3 v7 -800 2.0 76.0|107 177 44 V= vA -420 5.0 73.0|103 109 3NO+1 46 -430 4.0 740
68 19 3vDV+1l 4K -930 0.0 78.0|171 116 44 V= vA -420 5.0 73.0|165 160 3NO+1 v2 -430 4.0 74.0

166 - 425 166 - 425 166 - 425

13 sE Basta kontrakt 14 4 DKn1062 Basta kontrakt 15 « EK1098 Basta kontrakt

Nord v KKn1086 4v N =620 Ost v 86 34 SD-1-100 Syd v D10 5NTV =-460

Alla ¢+ KD103 Ingen ¢ E653 NS +10

#ED8 & ¢ v & NT *K4 & ¢ v & NT #KD643 % ¢ v & NT
4Kn10953 4 KD6 N 1010106 7 4EK98 +4 N75 4384 4D43 4765 N9 426 2
vE74 v D92 S 1010106 7 vD3 v EK9752 S75 484 vEKn3 v K98542 S9426 2
¢ 876 ¢ E95 032365 ¢ K1072 4984 0687 48 ¢ EK43 ¢ DKn7 037 104 8
53 10942 V333635 #Kn53 #D92 V687438 #Knl05 #E V 4 8 105 11

48742 4753 4 Kn2

v53 v Kn104 v76

¢ Kn42 ¢ DKn 498652

#KKn76 #E10876 #9872
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang

72 17 4v S= LN 620 759 21| 80 5 4v0-3 ¢Q 150 760 20| 3 11 4v0-1 &J 50 710 7.0

115 174 4v N= &K 620 759 21104 110 4v O-3 +Q 150 760 20| 7 78 6vyV-1 T 50 710 7.0

180 105 4v N= #T 620 759 21164 163 4v O-3 ¢Q 150 76.0 20| 13 1 4vO-1 &J 50 71.0 7.0

175 114 3NN= #2600 718 6.2 13 1 24 N+1 vA 140 700 80| 19 70 4vO-1 4 50 710 7.0
2 12 1y N+3 &K 170 575 205| 73 16 24 N+1 vA 140 700 8.0| 73 16 4vO-1 4 50 710 7.0
9 76 1lv N+3 &K 170 575 205|106 179 24 N+1 vA 140 700 80| 80 5 4vO-1 &J 50 71.0 7.0
66 63 3y N+1 &#T 170 575 205| 71 18 24 N= vA 110 66.0 12.0(104 110 4v O-1 &J 50 710 7.0
68 61 1lv N+3 #4 170 575 205 9 76 3v0O-2 +Q 100 60.0 18.0(119 170 4v O-1 4J 50 710 7.0
73 16 2v N+2 &4 170 575 205| 68 61 3vO-2 ¢Q 100 60.0 18.0| 9 76 3v O+1 &2 -170 59.0 19.0
80 5 1vN+3 &T 170 575 205| 72 17 2¢v0O0-2 +Q 100 60.0 18.0| 75 14 3v O+1 &J -170 59.0 19.0

104 110 1v N+3 &T 170 575 20.5(109 176 3vy O-2 +Q 100 60.0 18.0 (115 174 3v V+1 4A -170 59.0 19.0

106 179 1v N+3 &K 170 575 205|171 118 2v O-2 +Q 100 60.0 18.0 (169 120 3v O+1 &J -170 59.0 19.0

164 163 3v N+1 «K 170 575 205 19 70 4v V-1 «Q 50 46.0 32.0| 4 10 44 N-2 #A -200 54.0 24.0

165 162 1v N+3 &T 170 575 205| 65 64 14 V-1 8 50 46.0 32.0| 2 12 4vO= 4] -420 30.0 48.0

166 161 2v N+2 &K 170 575 205| 67 62 4v O-1 &7 50 460 320| 6 79 4v V= LN -420 30.0 48.0

172 117 1v N+3 &T 170 57.5 205|108 177 4v O-1 46 50 46.0 32.0| 8 77 4vO= 4] -420 30.0 48.0

173 116 1lv N+3 &T 170 575 205|166 161 4v O-1 v4 50 46.0 32.0| 15 74 4v V= 4 A -420 30.0 48.0
7 78 lv N+2 &K 140 39.0 39.0(167 160 2v O-1 ¢Q 50 46.0 32.0| 65 64 4v O= 4] -420 30.0 48.0
15 74 1v N+2 &T 140 39.0 39.0(169 120 4v O-1 #A 50 46.0 32.0| 66 63 4y O= 4] -420 30.0 48.0

108 177 1lv N+2 &T 140 39.0 39.0(172 117 2v O-1 +Q 50 46.0 32.0| 67 62 4vO= 4] -420 30.0 48.0

109 176 1v N+2 &K 140 39.0 39.0(180 105 4v O-1 3 50 46.0 32.0| 68 61 4v O= 4] -420 30.0 48.0

119 170 1v N+2 &K 140 39.0 39.0| 4 10 24 N-1 vA 50 33.0 45.0| 69 20 4v O= &K -420 30.0 48.0

102 112 1v N+1 &K 110 318 46.2| 6 79 34 N-1 ©vA -50 33.0 45.0| 71 18 4v O= 4] -420 30.0 48.0

107 178 1v N+1 T 110 31.8 46.2|115 174 24 N-1 vA -50 33.0 45.0(102 112 4v O= 4] -420 30.0 48.0
3 11 3v N-1 &K -100 22.6 554|173 116 34 N-1 vA -50 33.0 45.0|103 111 4v O= 4] -420 30.0 48.0
4 10 3NN-1 +¢5 -100 22.6 554| 69 20 2v 0= ¢Q -110 27.0 51.0|106 179 4v O= 4] -420 30.0 48.0
13 1 3NS-1 & -100 226 55.4(102 112 29 O= +Q -110 27.0 51.0|107 178 4y V= & A -420 30.0 48.0
65 64 1lv N-1 &K -100 22.6 55.4|165 162 2NV = +Q -120 24.0 54.0|109 176 4v O= 4] -420 30.0 48.0
67 62 3v N-1 &K -100 22.6 554| 8 77 2vV+l &K -140 18.0 60.0|113 101 4v O= 4] -420 30.0 48.0
75 14 2v N-1 &K -100 226 554 | 15 74 2y O+1 a7 -140 18.0 60.0( 164 163 4v O=  &J -420 30.0 48.0

167 160 3¢ N-1 &K -100 226 554 | 75 14 2vO+1 vJ -140 18.0 60.0|165 162 4v V= LY -420 30.0 48.0
6 79 3NS-2 43 -200 11.3 66.7|113 101 3v O= 43 -140 18.0 60.0|166 161 4v O= 4] -420 30.0 48.0
69 20 3NS-2 & -200 113 66.7 175 114 2y V+1 4Q -140 18.0 60.0 (171 118 4v V= a2 -420 30.0 48.0

113 101 3NN-2 &T -200 11.3 66. 66 63 INO+2 #6 -150 11.0 67.0|172 117 4v V= 4] -420 30.0 48.0

169 120 3NS-2 43 -200 11.3 66.7|119 170 INO+2 %6 -150 11.0 67.0|175 114 4v O= 4] -420 30.0 48.0
8 77 3NS-3 4] ;300 4.1 739 3 11 29 0+2 4Q -170 5.0 73.0(180 105 4v O=  &J -420 30.0 48.0
19 70 4vy N-3 &K -300 4.1 739 7 78 3v O+l ¢Q -170 5.0 73.0| 72 17 4v V+1 T -450 4.0 74.0

171 118 44 S-3 &5 -300 4.1 739|103 111 2v V+2 4Q -170 5.0 73.0|108 177 4v O+1 42 -450 4.0 74.0

103 111 5v N-4 &K -400 0.0 78.0[107 178 2y V+2 4Q -170 5.0 73.0[173 116 4v V+1 &A -450 4.0 74.0
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168 - 39.8 2 12 4y 0= ¢Q -420 0.0 78.0|167 160 3NV +2 &A -460 0.0 78.0
71 18 A-IA- 312 31.2|168 - 39.8 168 - 39.8
16 484 Basta kontrakt 17 4 ED Basta kontrakt 18 48 Basta kontrakt
Vast vED10732 5¢ ND-1-100 Nord v KKn2 3NT N =400 Ost vED32 7¢ S =2140
ov ¢D Ingen + D103 NS ¢ EKn854
#ED74 & ¢ v aN #D8632 & ¢ v & NT »KD4 & ¢ v & NT
« EKn107653 4K N9 0 104 4 « 832 « 109764 N 107 8 7 9 # 954 «KD72 N 1113101112
v K6 v4 S 9 0 104 4 vE103 v9754 S 107 8 7 9 vK1064 vKn975 S 1113101112
¢ EKn6 ¢K1087432 O 3 113 9 3 ¢ EKn64 ¢ 987 036553 ¢ K72 +6 020321
8 #Kn532 vV 3 113 9 3 #E95 *4 V36553 #1032 #9865 V20321
4 D92 4 KKn5 4 EKn1063
v Kn985 v D86 v8
¢ 95 ¢ K52 +D1093
#K1096 #KKn107 #EKn7
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
107 179 5v N= &2 450 78.0 0.0 1 15 3NS+1 ¢6 430 57.0 21.0| 16 75 6¢ N+1 #9 1390 73.0 5.0
5 11 4v N= oK 420 73.0 50| 4 12 3NS+1 6 430 57.0 21.0| 73 18 6¢ N+1 5 1390 73.0 5.0
68 63 4v N= aK 420 73.0 5.0 5 11 3NS+1 T 430 57.0 21.0 (104 112 6¢ N+1 v7 1390 73.0 5.0
104 112 4v N= K 420 73.0 5.0 7 79 3NN+1 &4 430 57.0 21.0 114 102 6¢ N+1 &K 1390 73.0 5.0
105 111 4v N= oK 420 73.0 50 8 78 3NN+1 3 430 57.0 21.0|166 163 6¢ S+1 47 1390 73.0 5.0
14 2 564 V-2 48 200 67.0 11.0 9 77 3NN+1 T 430 57.0 21.0(180 106 6¢ N+1 #6 1390 73.0 5.0
168 161 44 V-2 ¢Q 200 67.0 11.0| 14 2 3NN+1 &4 430 57.0 21.0| 4 12 3NN+3 v7 690 60.0 18.0
165 164 3v N+1 4K 170 64.0 140| 16 75 3NN+1 T 430 57.0 21.0 5 11 3NN+3 v7 690 60.0 18.0
3 13 44V-1 ¢Q 100 56.0 22.0| 70 61 3NN+1 T 430 57.0 21.0 8 78 3NN+3 v7 690 60.0 18.0
4 12 44 V-1 +Q 100 56.0 220 73 18 3NN+1 9 430 57.0 21.0| 69 62 3NN+3 ¥v5 690 60.0 18.0
69 62 44 V-1 48 100 56.0 22.0 (103 113 3NN+1 4 430 57.0 21.0| 74 17 3NN+3 v7 690 60.0 18.0
72 19 44 V-1 ¢Q 100 56.0 22.0(104 112 3NN+1 42 430 57.0 21.0(172 119 3NN+3 v7 690 60.0 18.0
73 18 54V-1 vA 100 56.0 22.0 (105 111 3NN+1 &4 430 57.0 21.0(173 118 3NN+3 v7 690 60.0 18.0
114 102 44 V-1 +Q 100 56.0 22.0 107 179 3NS+1 48 430 57.0 21.0 1 15 3NN+2 ¥5 660 35.0 43.0
180 106 44 V-1 ¢Q 100 56.0 22.0(108 178 3NS+1 ¢4 430 57.0 21.0 7 79 3NN+2 5 660 35.0 43.0
7 79 4v N-1 &K -50 40.0 38.0(110 176 3NS+1 48 430 57.0 21.0| 14 2 3NN+2 &K 660 35.0 43.0
8 78 5v N-1 &K -50 40.0 38.0(114 102 3NS+1 ¢6 430 57.0 21.0( 20 71 3NN+2 ¥5 660 35.0 43.0
16 75 4v N-1 &K -50 40.0 38.0(166 163 3NS+1 ¢4 430 57.0 21.0( 66 65 3NN+2 v7 660 35.0 43.0
67 64 5v N-1 &K -50 40.0 38.0(167 162 3NS+1 ¢6 430 57.0 21.0| 67 64 3NN+2 ¥v5 660 35.0 43.0
103 113 4v N-1 K -50 40.0 38.0(168 161 3NS+1 ¢6 430 57.0 21.0| 68 63 3NN+2 v7 660 35.0 43.0
108 178 4v N-1  +8 -50 40.0 38.0(169 160 3NS+1 ¢4 430 57.0 210 80 6 3NN+2 v7 660 35.0 43.0
116 175 4v N-1 &K -50 40.0 38.0(174 117 3NN+1 «T 430 57.0 21.0(101 115 3NN+2 5 660 35.0 43.0
120 171 4v N-1 K -50 40.0 38.0 3 13 3NS= ¢6 400 23.0 55.0 (107 179 3NN+2 &K 660 35.0 43.0
174 117 3v N-1 &K -50 40.0 38.0( 10 76 3NN= 4 400 23.0 55.0(109 177 3NN+2 9 660 35.0 43.0
109 177 4v N-2 &K -100 30.0 48.0| 66 65 3NS= ¢4 400 23.0 55.0(110 176 3NN+2 42 660 35.0 43.0
1 15 34 V= ¢+ Q -140 27.0 51.0| 68 63 3NS= ¢4 400 23.0 55.0(116 175 3NN+2 v7 660 35.0 43.0
101 115 34 V= ¢ Q -140 27.0 51.0( 69 62 3NS= ¢4 400 23.0 55.0(120 171 3NN+2 v7 660 35.0 43.0
167 162 5¢vDN-2 4K -300 23.0 55.0| 72 19 3NN= ¢6 400 23.0 55.0(165 164 3NN+2 «9 660 35.0 43.0
172 119 5¢DN-2 K -300 23.0 55.0| 80 6 3NN= T 400 23.0 55.0(168 161 3NN+2 v7 660 35.0 43.0
9 77 4e V= ¢+ Q -620 12.0 66.0 (101 115 3NS= ¢4 400 23.0 55.0(169 160 3NS+2 v6 660 35.0 43.0
10 76 44 V= +Q -620 12.0 66.0 109 177 3NN-= «T 400 23.0 55.0 (174 117 3NS+2 3 660 35.0 43.0
20 71 44 V= vA -620 12.0 66.0 (165 164 3NS= ¢4 400 23.0 55.0 9 77 3NN+1 v7 630 12.0 66.0
66 65 44 V= vA -620 12.0 66.0 172 119 3NS= ¢6 400 23.0 55.0| 70 61 3NN+1 5 630 12.0 66.0
70 61 4a V= vA -620 12.0 66.0(180 106 3NS= ¢6 400 23.0 55.0| 72 19 3NN+1 v7 630 12.0 66.0
80 6 4e4V= vA -620 12.0 66.0(116 175 34 O-3 T 150 9.0 69.0|103 113 3NN+1 2 630 12.0 66.0
110 176 5¢ O+1 vJ -620 12.0 66.0 (120 171 2NS+1 +6 150 9.0 69.0/108 178 3NN+1 ¥5 630 12.0 66.0
169 160 4e V= vA -620 12.0 66.0| 67 64 3# N+l &6 130 5.0 73.0 3 13 5¢ N= *9 600 5.0 73.0
173 118 44 V= vA -620 12.0 66.0(173 118 3#N+1 T 130 50 73.0| 10 76 3NN= «K 600 50 73.0
74 17 4e V+ vA -650 2.0 76.0| 20 71 54 N-1 ¢9 -50 1.0 77.0(105 111 3NN-1 7 -100 2.0 76.0
166 163 44DV= vA -790 0.0 780 74 17 3NS-1 6 50 1.0 77.0|167 162 64 S-3 ¢2 -300 0.0 78.0
170 - 36.6 170 - 36.6 170 - 36.6
19 a- Basta kontrakt 20 « K43 Basta kontrakt 21 3 Basta kontrakt
Syd v 932 5¢ SD-3-500 Vast v EKD108 3NT N =600 Nord v 108632 3+ OD-1100
ov + E98642 Alla ¢ 843 NS ¢ Kn93
»8764 & ¢ v o N »64 & ¢ v o NT #D1053 & ¢ v & NT
«K9874 &Knl052 N58534 10765 4ED2 N 8 109 8 9 «KKn752 «ED1086 N95957
v 654 vE1087 S58535 vKn975 v432 S 7 109 8 9 v D54 vKn7 S95957
¢Kn75 +K 075 8 107 ¢ D2 ¢ Kn95 052353 + D75 ¢ E642 037386
*E2 #KD95 vV 75 8 107 #K108 #DKn52 V52353 #Kn2 *96 V37386
« EDG3 & Kn98 294
v KDKn v6 v EK9
+ D103 + EK1076 + K108
#Kn103 #E973 #EK874
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 12 3¢ S+1 &4 130 780 00| 68 65 3NN+1 5 630 75.0 3.0(102 116 4v N= *9 620 78.0 0.0
69 64 INS+1 «4 120 76.0 20| 73 20 3NN+1 &5 630 75.0 30| 69 64 44DO-3 vA 500 76.0 20
4 14 3¢ N= a) 110 69.0 9.0 80 7 3NN+1 #Q 630 75.0 30| 11 76 44DO-2 vA 300 71.0 7.0
61 72 3¢ N= LN 110 69.0 9.0(104 114 3NN+1 &2 630 750 30| 61 72 44DO-2 vA 300 71.0 7.0
73 20 3¢ N= «K 110 69.0 9.0 8 79 3NN= *2 600 65.0 13.0(169 162 44D O-2 &K 300 71.0 7.0
104 114 3¢ N= K 110 69.0 90| 17 1 3NN= ¢5 600 65.0 13.0 180 107 44DO-2 #A 300 71.0 7.0
111 176 3¢ N= K 110 69.0 90| 71 62 3NN= a2 600 65.0 13.0( 80 7 2v S+3 #J 200 66.0 12.0
115 103 3¢ N= «K 110 69.0 9.0(111 176 3NN= &5 600 65.0 13.0(106 112 2v S+2 #J 170 62.0 16.0
9 78 INS= 48 90 54.0 24.0|115 103 3NN= «Q 600 65.0 13.0 (111 176 2v S+2 #J 170 62.0 16.0
15 3 INS= a4 90 54.0 240|175 118 3NN= «Q 600 65.0 13.0(168 163 2v S+2 #J 170 62.0 16.0
17 1 INS= a4 90 54.0 24.0(169 162 3¢ S+1 v7 130 57.0 21.0 6 12 3v S= +5 140 58.0 20.0
75 18 1l¢ S+1 #A 90 54.0 24.0(171 160 3¢ S+1 46 130 57.0 21.0 2 16 44 0-2 <vA 100 46.0 32.0
105 113 INS= a4 90 54.0 24.0 (117 101 3¢ S= a5 110 53.0 25.0 5 13 44DO-1 #A 100 46.0 32.0
109 178 INS= a7 90 54.0 24.0(166 165 3¢ N= *6 110 53.0 25.0 8 79 44 0-2 &K 100 46.0 32.0
110 177 INS= a7 90 54.0 24.0 2 16 2NS-1 46 -100 40.0 38.0| 68 65 44 O-2 #A 100 46.0 32.0
170 161 INS= LY 90 54.0 24.0 5 13 3NN-1 &5 -100 40.0 38.0| 71 62 44 O-2 #A 100 46.0 32.0
175 118 INS= a4 90 54.0 24.0 9 78 3NS-1 8 -100 40.0 38.0| 73 20 34 O-2 &A 100 46.0 32.0
10 77 INS-1 8 -50 36.0 42.0( 10 77 2NN-1 &5 -100 40.0 38.0(104 114 44 O-2 vA 100 46.0 32.0
11 76 3¢ N-1 & -50 36.0 420| 11 76 3NN-1 #Q -100 40.0 38.0[115 103 34 V-2 &5 100 46.0 32.0
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71 62 3¢ S-1 +5 -50 36.0 420 15 3 3NS-1 46 -100 40.0 38.0(170 161 44 O-2 ©vA 100 46.0 32.0
74 19 INS-1 a4 -50 36.0 420 69 64 3NN-1 &2 -100 40.0 38.0|171 160 44 O-2 ¥vA 100 46.0 32.0
102 116 2NN-1 +8 -50 36.0 420 70 63 3NS-1 a5 -100 40.0 38.0 (173 120 44 V-2 +9 100 46.0 32.0
108 179 INS-1 LY -50 36.0 420 74 19 3vy N-1 #Q -100 40.0 38.0 4 14 34 O-1 #A 50 23.0 55.0
117 101 3¢ N-1 &J -50 36.0 42.0(102 116 3NN-1 &5 -100 40.0 38.0 9 78 340-1 YA 50 23.0 55.0
166 165 3¢ N-1 v7 -50 36.0 42.0(180 107 3NN-1 #Q -100 40.0 38.0| 15 3 340-1 vA 50 23.0 55.0
169 162 3¢ S-1 #A -50 36.0 42.0 4 14 3NN-2 &2 -200 16.0 62.0| 17 1 340-1 ©vA 50 23.0 55.0
168 163 1INV = +6 -90 26.0 52.0 6 12 3NN-2 &5 -200 16.0 62.0| 67 66 34 O-1 A 50 23.0 55.0
68 65 4¢ N-2 & -100 19.0 59.0| 61 72 3NN-2 &4 -200 16.0 62.0| 74 19 34 O-1 ¥vA 50 23.0 55.0
80 7 3¢ N-2 &K -100 19.0 59.0| 67 66 3NS-2 46 -200 16.0 62.0| 75 18 34 V-1 v8 50 23.0 55.0
106 112 INS-2 a5 -100 19.0 59.0| 75 18 3NN-2 &5 -200 16.0 62.0|105 113 34 O-1 YA 50 23.0 55.0
171 160 2N S -2 +5 -100 19.0 59.0|106 112 3NN-2 #Q -200 16.0 62.0 (108 179 34 O-1 &A 50 23.0 55.0
173 120 3¢ N-2 w7 -100 19.0 59.0|108 179 3NN-2 &2 -200 16.0 62.0(117 101 34 O-1 K 50 23.0 55.0
174 119 4¢ N-2 &J -100 19.0 59.0|109 178 3N S-2 a5 -200 16.0 62.0(174 119 34 O-1 YA 50 23.0 55.0
8 79 3aV= *A -140 12.0 66.0 110 177 3NN-2 #Q -200 16.0 62.0|175 118 34 O-1 ¥vA 50 23.0 55.0
67 66 3NS-3 LY -150 8.0 70.0(167 164 3NN-2 &A -200 16.0 62.0 110 177 34 S-1 &7 -100 10.0 68.0
70 63 4¢ N-3 &K -150 8.0 70.0(168 163 5¢ S-2 &5 -200 16.0 620 10 77 24 O= vA -110 8.0 70.0
180 107 1IN S-3 LY -150 8.0 70.0(173 120 4v N-2 &2 -200 16.0 62.0| 70 63 24 O+1 &A -140 5.0 73.0
2 16 24 V+2 ¢A -170 3.0 75.0(174 119 3NS-2 46 -200 16.0 62.0|167 164 24 O+1 &K -140 5.0 73.0
167 164 24 V+2 ¢A -170 3.0 75.0(105 113 3NN-3 &2 -300 1.0 770|109 178 54 S-2 &7 -200 1.0 77.0
5 13 6¢ N-4 &K -200 0.0 78.0(170 161 3NN-3 #Q -300 1.0 77.0|166 165 4vDN-1 «A -200 1.0 77.0
- 172 45.1 - 172 45.1 - 172 45.1
22 «D74 Basta kontrakt 23 46 Basta kontrakt 24 D3 Basta kontrakt
Ost v Kn976 3v SD-1-100 Syd v KKn2 ANT S =630 Vast v3873 6NT V =-990
oV + K86 Alla + DKn43 Ingen + D972
&DKn3 & ¢ v & NT &#EKn432 & ¢ v & NT #8542 & ¢ v & NT
4 Knl03 & K9852 N8 6 8 47 4 DKn75 4109432 N 11118 8 10 4E982 4 K10764 N14211
vEK432 v- S75846 v 9875 vD1064 S 11118 8 10 vKKn65 ¥E10 S14211
+5 +Kn109743 O 5 7 5 8 6 + 875 + K109 022452 ¢+E108 ¢K3 O 129 111212
#K986 #104 V57586 #K10 &D V22452 D7 #EKN93 V 129 111212
4 E6 « EK8 & Kn5
v D1085 vE3 v D942
+ ED2 + E62 ¢ Kn654
&E752 #98765 K106
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 15 3NS= vA 400 75.0 3.0(107 113 3NS+3 &4Q 690 78.0 0.0]118 102 34 O+3 +4 -230 78.0 0.0
6 14 3NS= v3 400 75.0 3.0 3 17 3NS+2 v7 660 62.0 16.0| 18 2 44 O+1 v4 -450 76.0 2.0
107 113 3NS= vA 400 75.0 3.0 5 15 3NS+2 &7 660 62.0 16.0 3 17 44 O+2 v4 -480 52.0 26.0
170 163 3N S= a] 400 75.0 3.0 6 14 3NS+2 ¥9 660 62.0 16.0 5 15 44 O+2 45 -480 52.0 26.0
1 19 2NS+1 #2 150 69.0 9.0 7 13 3NS+2 &7 660 62.0 16.0 6 14 44 O+2 v4 -480 52.0 26.0
75 20 2NN+1 3 150 69.0 9.0 9 79 3NS+2 «Q 660 62.0 16.0 7 13 44 O+2 v4 -480 52.0 26.0
9 79 2NS= vA 120 62.0 16.0( 68 67 3NN+2 &4 660 62.0 16.0( 11 77 44 O+2 &5 -480 52.0 26.0
103 117 2N S= v2 120 62.0 16.0| 74 61 3NN+2 oT 660 62.0 16.0| 12 76 44 O+2 &6 -480 52.0 26.0
116 104 2N S= v2 120 62.0 16.0| 75 20 3NS+2 «Q 660 62.0 16.0| 16 4 44 O+2 o5 -480 52.0 26.0
171 162 2NS= vA 120 62.0 16.0 (112 176 3NS+2 &5 660 62.0 16.0| 68 67 44 O+2 vQ -480 52.0 26.0
180 108 2N S = v2 120 62.0 16.0|167 166 3NN+2 v4 660 62.0 16.0| 70 65 44 O+2 ¢4 -480 52.0 26.0
167 166 3& V-1 +6 100 56.0 22.0(168 165 3NS+2 ¢9 660 62.0 16.0( 71 64 44 O+2 ¥2 -480 52.0 26.0
18 2 3NS-1 vA -50 48.0 30.0(169 164 3NS+2 &5 660 62.0 16.0( 72 63 44 V+2 ¢7 -480 52.0 26.0
69 66 3vS-1 +5 -50 48.0 30.0[170 163 3NS+2 ¥5 660 62.0 16.0| 75 20 44 O+2 & -480 52.0 26.0
72 63 2NS-1 vA -50 48.0 30.0[172 161 3NS+2 &7 660 62.0 16.0| 80 8 4e V+2 o7 -480 52.0 26.0
80 8 3vS-1 +5 -50 48.0 30.0(180 108 3NS+2 «Q 660 62.0 16.0|101 119 44 O+2 ¢4 -480 52.0 26.0
160 173 3N S-1 vA -50 48.0 30.0 1 19 3NS+1 &7 630 39.0 39.0|103 117 44 O+2 v4 -480 52.0 26.0
168 165 3N S-1 vA -50 48.0 30.0 11 77 3NS+1 ¥9 630 39.0 39.0|105 115 44 O+2 ¢4 -480 52.0 26.0
172 161 3NS-1 +5 -50 48.0 300 12 76 3NS+1 «Q 630 39.0 39.0 (111 177 44 V+2 ¥3 -480 52.0 26.0
3 17 4v S-2 +5 -100 27.0 51.0| 16 4 3NS+1 &7 630 39.0 39.0|160 173 44 O+2 45 -480 52.0 26.0
10 78 4v S-2 +5 -100 27.0 51.0| 62 73 3NS+1 &7 630 39.0 39.0|168 165 44 O+2 46 -480 52.0 26.0
11 77 4v S-2 v2 -100 27.0 51.0| 69 66 3NS+1 &7 630 39.0 39.0|169 164 44 O+2 +¢5 -480 52.0 26.0
16 4 49 S-2 +5 -100 27.0 51.0|106 114 3NS+1 &5 630 39.0 39.0|172 161 44 O+2 v4 -480 52.0 26.0
62 73 4v S-2 4] -100 27.0 51.0|160 173 3NS+1 5 630 39.0 39.0|175 120 44 O+2 ¢4 -480 52.0 26.0
70 65 4v S-2 +5 -100 27.0 51.0| 72 63 5#S+1 «Q 620 30.0 48.0(180 108 54 O+1 ¥4 -480 52.0 26.0
71 64 4v S-2 +5 -100 27.0 51.0| 18 2 54S= «Q 600 22.0 56.0|107 113 3NV +3 2 -490 28.0 50.0
74 61 2NS-2 vA -100 27.0 51.0| 71 64 3NS= «Q 600 22.0 56.0 9 79 44 O+3 &6 -510 22.0 56.0
101 119 3NS-2 vA -100 27.0 51.0|101 119 5 S= +8 600 220 56.0| 69 66 44 V+3 &6 -510 22.0 56.0
105 115 3NN-2 ¢J -100 27.0 51.0|105 115 3NS= v9 600 22.0 56.0|110 178 44 O+3 %6 -510 22.0 56.0
110 178 3N S-2 vA -100 27.0 51.0|110 178 3NS= v9 600 22.0 56.0|112 176 44 O+3 &6 -510 22.0 56.0
112 176 4v S-2 +5 -100 27.0 51.0|118 102 3NS= 4Q 600 22.0 56.0|170 163 44 O+3 &6 -510 22.0 56.0
118 102 4v S-2 *2 -100 27.0 51.0|171 162 3NS= a7 600 22.0 56.0 1 19 64 O= v4 -980 11.0 67.0
175 120 3v S-2 +5 -100 27.0 51.0|116 104 2N S+2 &7 180 140 640 62 73 64 V= *4 -980 11.0 67.0
12 76 4v S-3 +5 -150 9.0 69.0( 70 65 34S+2 &Q 150 8.0 70.0|106 114 64 O= a] -980 11.0 67.0
68 67 4v S-3 +5 -150 9.0 69.0( 80 8 24S+3 v9 150 8.0 70.0(109 179 64 O= a5 -980 11.0 67.0
106 114 3N S-3 vA -150 9.0 69.0(103 117 24 S+3 ¥9 150 8.0 70.0|116 104 64 V= a3 -980 11.0 67.0
169 164 4v S-3  &J -150 9.0 69.0 111 177 24 S+3 v9 150 8.0 70.0|171 162 64 O = +5 -980 11.0 67.0
7 13 3NN-4 ¢ 200 4.0 740|175 120 3« S+2 4Q 150 8.0 70.0| 10 78 64 O+1 &6 -1010 2.0 76.0
109 179 3NS-5 vA -250 20 76.0( 10 78 3NS-1 & Q -100 20 76.0| 74 61 64 O+1 &6 -1010 2.0 76.0
111 177 44 O= v8 -620 0.0 78.0(109 179 3NS-2 4Q -200 0.0 78.0(167 166 64 O+1 &T -1010 2.0 76.0
174 - 31.8 174 - 31.8 174 - 31.8
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